orgst i E522 =8 84 HEHE=E)

2019. 12. 7|&
@ = (MY, %)
z2 x| 20193 (HH) 20199 1 (=4 202043 18 (*A) 2020'4 18(2H)

oF 4 E| M= 113,490 11,821 9,887 -16.4% 9,887
o 80,785 9,527 6,667 -30.0% 6,667

TEFN M= 31,444 1,753 3,663 109.0% 3,663
o 3,493 341 404 18.5% 404

g M= 214,019 15,501 12,701 -18.1% 12,701
o+ 26,323 1,883 1,247 -33.8% 1,247

ob izl = M= 57,372 5,129 3,726 -274% 3,726
o+ 2 - 1 0.0% 1

orarat 7| 7| M= 114,767 8,294 6,680 -19.5% 6,680
o+ 1,930 - 126 0.0% 126

7| Efor M= 4,611 154 670 335.1% 670
o+ 25 - 34 100.0% 34

517 Mz 535,703 42,652 37,327 -12.5% 37,327

cf 112,558 11,751 8,479 -27.8% 8,479
o ¢ (M2, %)
=5 X< 2019 (HH) 20199 1€ (54l 2020'3 18€(5=4A)) 2020'4 18 (2H)

oF 2 E] M= 83,108 10,321 8,886 -13.9% 8,886
o+ 16,718 2,608 1,993 -23.6% 1,993

Mzaa M= 161,754 24,128 25,136 4.2% 25,136
o+ 2,640 523 593 13.4% 593

aAseax M= 199,221 15,253 15,295 0.3% 15,295
o+ 520 52 41 -212% 41

ol 3= M= 108,021 10,598 9,474 -10.6% 9,474
o+ 2,947 418 291 -304% 291

orarst 77| M= 145,708 8,781 8,888 1.2% 8,888
o+ 684 41 9 -78.0% 9

J|Epor M= 45,452 2,134 1,959 -8.2% 1,959
o+ 521 21 95 352.4% 95

st M 743,264 71,215 69,638 -2.2% 69,638
o+ 24,030 3,663 3,022 -17.5% 3,022
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2019. 12. 7|&

@ °HAH (MY, %)
= =7t 2019 (HH) 20199 1€ (54l 2020'3 18€(5=4A)) 202044 18 (2Hg)

1 Ud= 33,855 3,282 3,245 -1.1% 3,245

2 o= 13,240 1411 1,504 6.6% 1,504

3 5= 10,410 628 622 -1.0% 622

4 =g 7,386 754 604 -19.9% 604

5 O|&tz|of 1,912 193 443 129.5% 443

6 Hop3a 3,557 397 434 9.3% 434

7 = 3,683 304 373 22.7% 373

8 HEzte 2,909 505 338 -33.1% 338

9 g= 6,328 866 336 -61.2% 336

0 FHLtCt 2,970 383 312 -18.5% 312

A 86,250 8,723 8,211 -5.9% 8,211
@ M3t~ (MY, %)
= =718 2019 (HH) 20199 1€ (54l 2020'3 18€(5=4A)) 20204 18 (2Hg)

1 = 8,116 228 1,558 583.3% 1,558

2 83 4,966 441 252 -42.9% 252

3 o= 3,492 155 473 205.2% 473

4 drtE= 2,346 198 363 83.3% 363

5 CHet 1,796 115 176 53.0% 176

6 Aq= 1,726 16 145 806.3% 145

7 A= 1,645 177 169 -45% 169

8 makA 1,329 8 58 625.0% 58

9 FH Ltk 865 41 33 -19.5% 33

10 o|tz|of 820 56 113 101.8% 113

A 27,101 1,435 3,340 132.8% 3,340
@ ZEEAU= (HER, %)
= =718 2019 (HH) 20199 1€ (54l 20203 18 (5=4A)) 20204 18 (2Hg)

1 5= 70,430 5,158 2,523 -51.1% 2,523

2 Aq= 45,980 3,415 4,382 28.3% 4,382

3 Ef= 13,346 993 377 -62.0% 377

4 A+ C|ot2tH| of 10,013 741 1,363 83.9% 1,363

5 = 8,803 990 263 -73.4% 263

6 Rl | Alot 8,287 702 560 -20.2% 560

7 =g 7,069 337 452 34.1% 452

8 FH0IE 5415 184 83 -54.9% 83

9 2 o] Alof 4,706 454 347 -23.6% 347

10 2{AlO} 4,358 460 99 -78.5% 99

A 178,407 13,434 10,449 -22.2% 10,449

* HSK code

- QHAH| 9003, M=2kA 900410, 7|EFREZE 900490, 2HE T = 900140/900150, 2B E = 900130, 2t&3t7|7| 901850/8464201000/8464209000
0

- J7|EFQFZ(900490) : A|BI N E B3 L& otF. 121t 0|9 KA 2A 7|EL



otast e E522 =2 &4 dE(=7HE)

2019. 12. 7|&
@ OHAH| (MY, %)
= =7t 2019 (HH) 20199 1€ (54l 2020'3 18€(5=4A)) 20204 18 (2H)

1 == 42,919 6,454 5,561 -13.8% 5,561

2 Aq= 18,126 1,493 1,433 -4.0% 1,433

3 O|&tz|of 5,889 862 697 -19.1% 697

4 Hop3a 6,927 71 579 -18.6% 579

5 = 1,256 182 294 61.5% 294

6 =2 4,432 419 178 -57.5% 178

7 a3 172 2 32 1500.0% 32

8 83 868 60 16 -73.3% 16

9 CH et 303 42 14 0.0% 14

10 o= 401 25 13 -48.0% 13

A 81,293 10,250 8,817 -14.0% 8,817
[ e (MY, %)
= =718 2019 (HH) 20199 1€ (54l 2020'3 18€(5=4A)) 20204 18 (2H)

1 O|&tz|of 65,854 9,822 12,120 234% 9,822

2 E) 68,777 11,639 10,731 -7.8% 11,639

3 U= 9,605 1,757 1,015 -42.2% 1,757

4 o= 9,503 529 534 0.9% 529

5 = 2,525 63 263 317.5% 63

6 CHet 1,292 103 224 117.5% 103

7 a3 95 8 89  1012.5% 8

8 =2 1,082 76 69 -9.2% 76

9 23 224 42 33 -21.4% 42

10 3 20 1 11 1000.0% 1

A 158,977 24,040 25,089 4.4% 24,040
@ ZEHER= (MY, %)
= =718 2019 (HH) 20199 1€ (54l 20203 18 (5=4A)) 20204 18 (2H)

1 O|&tz|of 49,439 2,253 2,291 1.7% 2,291

2 e 8,402 534 822 53.9% 822

3 Ud= 19,684 2,154 560 -74.0% 560

4 o= 6,378 538 550 22% 550

5 = 3,520 344 112 -67.4% 112

6 CHet 869 4 103 2475.0% 103

7 A= 5,920 24 35 45.8% 35

8 =g 1,182 3 5 66.7% 5

9 23 482 10 - -100.0% -

10 3 20 - - -

A 95,896 5,864 4,478 -23.6% 4,478

* HSK code
- Ot H| 9003, M2 2tA 900410, 7|EFRFA 900490, RHZ B = 900140/900150, ZE4 E &= 900130, PH&&H7|7| 901850/8464201000/8464209000
- 7|EFQRHA(900490) : A|BHRHE. B2 & E= oF. =1} 0| RAISH ¢ 7|Ef



